English File Pre-Intermediate
Quick test 1

: GRAMMAR

Choose A, B, or C to complete the sentences.

1. He lunch at work.
A usually have B has usually C usually has

. My cousin biology at university.

(2]

. A studies B is studying C study
“ 3. Where live?
A you B you do C do you

. My mother work. She’s retired.

.

A not B doesn’t C isn’t
©» 5.Uma__ avegetable curry and it looks delicious.

| A cooking is B to cook C is cooking
6. Be careful! You  a mistake.
.. A are making B making C make
7.She __ people who talk a lot.
. Anotlikes B doesn'tlike C don'tlike
- 8. A:What 7
B: I'm reading an email.

A you do B are you doing C you are doing
9. A: Why 7
B: Because I'm happy.
2 A you're smiling B do you smile C are you smiling
T10.A: 2
B: She's shy and quite serious.
A What's your sister like B What does your sister like C How's your sister

I1.We __ forataxi. We're looking for the bus stop.

: A not waiting B isn’twaiting C aren’t waiting
12. What time ____ the film start?
_ A does B do C is
. 13. Az How’s Freddy?
] B:

A He's very friendly. B Fine, thanks. C He’s tall and dark.
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' 14. A: Who's that man?

B: Sorry,I _ him.
A 'mnot knowing B don’tknow C not know
15. A: Are you working?
B: No,
: A I'm not. B lisn’t. C Idon't.
16. How often __ your aunt and uncle?
A are you seeing B you see C do you see

0 17. A: Why is he sunglasses?

B: Because it’s very sunny today.

A wears B to wear C wearing
18 Mywatch . It’s broken.

A isn'tworking B doesn’t working C isn’t work
19. A: Does he like Mexican food?

B:Yes, .

. A he does. B he do. C he likes.
20. A: What  like?

B: She’s got long, dark hair and she’s very tall.

A does she B she looks C does she look
. VOCABULARY
Task 1. Choose the opposite adjective A, B or C.

- 1. mean

A unfriendly B serious  C generous

2. stupid

A unkind B clever C talkative

" 3. thin

A slim B overweight C bald

4. hard-working

A lazy B serious C friendly

S. straight

. A long B bald C curly

. Task 2. Choose the correct clothes word A, B or C.

1 6. You wear on your legs.

A tights B acardigan C ascarf
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7. This is a piece of jewellery for your arm.
- A scarf B bracelet C necklace
8. In winter, you don’t usually wear
A ascarf B shorts C gloves
9. You wear them on your feet in summer.
A sandals B shorts C leggings
10. They go on your hands in winter.
A socks B tracksuits C gloves

' 11. You wear it on your neck.

A ring B tie C cap
12. Oh no! My are ditferent colours today!
A jeans B trousers  C socks

*1 13. You need this if your trousers are big.
A trainers B suit C belt

Task 3. Choose A, B or C to complete these sentences.

14. I can’t get my book. Itis _ the sofa.
A next B between C behind
15. Mozelle is standing  the left of her brother Leo.
A of B on C in
16. There's a small table  the two chairs.
A under B between  C in front
17. Marisa is sitting _____ to Salvatore.

A behind B opposite  C next

+ 18. A: Who’sthat __ the middle of the photo?
: B: That’s my cousin, Andrea.
A on B to C in
1 19. The TV is _the corner of the living room.
A in B from C next
20. The keys are there! They’rein _ of you!

A next B behind C front

PRONUNCIATION
Which word has a different sound? Choose A, B, or C.
" LA watches B likes C hates

' 2.A trousers B university C sweater

T ]
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3. A curly B work C directions
4. A does B laughs C works

i
5

. 5. A classes B teaches C goes

Which is the stressed syllable? Choose A, B, or C.
6. A appearance B appearance  C appearance
7. A extrovert B extrovert C extrovert
8. A unfriendly B unfriendly C unfriendly
9. A talkative B talkative C talkative

10. A example B example C example
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